(B —1)

F |
. nE FRmEME | AREME | EHRE 1% R
G
%)
B
ik
—— — TRETIET | resorimre — ” e
ﬁf_ %an @Iﬂ%ﬁ Hﬂ%ﬁ*ﬁﬁa ?ifﬂ%{&’f;ﬁ% @ﬁ{a_{%{?ﬁﬁ % ﬁ % #Eél%‘ ﬂn"’%
ﬁ Zit
ASTISMERE EF T = 40T FF AR R T INF R NGRE
RS = AT — T H 961 21F
e 2 K 228 B T 5 ik #H oA
SHFET T AR T g — i T # i H B
AR SN % F T H A H SR A H
O = lT 4
HEREA Bk 7 ) — i 2 e rEEAT oo AR
@%ﬁiiﬁﬁk5£‘3 ES ot = N Il =
oz oot R RN G BB
RS, TR T 7L R AR o — I
R B AN, B3t TER KA (EEGR R
OB A 54T A
B . ) TE T
T =+ X it A A




St

% R AR 12 B 8t 8 B & & %8
THSFE HHEH=HFEITEMRAEAIS
EEIEE
ERRRETS = 1.0 4,187,126
fRIATE = 1.0 11, 508, 659
T OB AETE = 1.0 15, 841, 907
ERIRH 31,537, 692
HBE
HERERE WA £ R = 1.0 3, 498, 589
RSEEE = 1.0 1,992, 230
—REEE = 1.0 3,851, 489
HBEEE 9, 342, 308
T H{fitk 40, 880, 000
HERE 4, 088, 000
& &t 44, 968, 000

¥ T




